Franke Resupply Systems Companies

Franke Resupply Systems, Inc.
800 Aviation Parkway

Smyrna, TN 37167 USA

Tel: 1-800-423-5247

Fax: 1-877-538-6882
website: www.frankeparts.com

Franke Foodservice SystemsGmbH
Jurastrasse 3

79713 Bad Saeckingen, Germany
Tel: +49776155335700

Fax: +497767 5533 8700

website: www.frankefs.eu

Franke (China) Kitchen System Co., Ltd
318 Yinglang Industrial Zone

Shaping Town, Heshan City, Guangdong
China 529700

Tel: 86-750-841 5328

Fax: 86-750-841 5845

website: asia.frankefs.com

Franke GastopolSp.zo.o
ul.Polnocna 11

PL-81-029 Gydnia/ Poland
Tel: 48/58/623/7200

Fax: 48/58/623/6200

Franke Foodservice Systems Philippines
B1-6&7 Phase 1
CarmelraylndustrialPark(CIP) Il

Brgy. Tulo Calambra, Laguna 4027

Tel: +63-49-456-0140

Fax: +63-49-546-0138

FRANKE N
SAUCE . %
GUN

Table of Contents

L 56 2= 11N
Parts Identification..

Limited Warranty

Any part(except plastic coating on pusher rod) which proves to be faulty within 1 year from date of purchase
will be replaced or repaired without cost to the customer for parts or labor.

This warranty is subject to the following exceptions and conditions:
e Damage caused by carelessness, neglect, and/or abuse (e.g., Dropping, tampering or altering parts),
equipment damage in shipment, by fire, flood or an act of God is not covered under this warranty.

Franke Resupply Systems, Inc.
800 Aviation Parkway
Smyrna, TN 37167 USA

To Place An Order For Replacement Parts In USA Call: 1-800-423-5247



Part Identification and Function .
Maintenance

1. The gun should be lubricated daily using petroleum jelly or similar foodgrade lubricant.

2. Toload new cartridge disengage pusherrod by pulling backthe trigger slightly, rotate the
pusherrodtotheright orleft until the teeth face upright. Pull the pusherrod back as far
asitwill go, load the new cartridge then push the rod back until it makes contact with the
new cartridge. Rotate the pusherrod so that the teeth face down and pull the trigger, the
gunis now ready to dispense.

3. Regularly check the nuts for tightness.

4, Before the pusher rod can be reinstalled both wratchets must be in theforward position.

Available Models

Item Part # Description
4005458...cccuvenneene Sauce Gun 1/4 oz. (Light brown)
4006093 Sauce Gun ¥ oz. (White)
...4006094 Sauce Gun 1/3 oz. (Red)
4006095 Sauce Gun 2/3 oz. (Black)
4006096 Sauce Gun 1 oz. (Green)
...4006300 Sauce Gun 2/3 oz. (Yellow)
...4006301 Sauce Gun 1/3 oz. (Orange)
...4006302 Sauce Gun 3/4 oz. (Light Green)
4006639 Sauce Gun 5/8 oz. (Blue)
4008180 Sauce Gun 2/3 oz. (Brown)
...4008214 Sauce Gun 1/3 oz. (White)
4008895 Sauce Gun 1/3 oz. (Blue)
4008896................ Sauce Gun 1/3 oz. (Green)
...4009048..... Sauce Gun 2/3 oz. (Blue)
...27006352... Sauce Gun 1 oz. (Blue)

Sauce Gun 7/16 oz. (Green)

Illus. #......... Part# ................. Description .......ciiiiiiiiiiiiiiiiiiiii Qty.
1o 24109067 ... Screw, (M4 X 12) oottt e iaeas 1
24117005 ... Plate, Pusher, Piston ..., 1
24117001 ... Holder, Cartridge ... .cvii i 1
LA4006754 L Handle 1/30z.Red ....oiii e 1
4006754 L Handle 1/30z.0range .......coviieeiiineninnennnn 1
4006753 L Handle 1/2 0z. White ........ ..o, 1
4006757 o Handle 5/8 0z.BlUe ......oviiiieie i, 1
4006755 L Handle2/30z.Black . .....covviiiniiiie it 1
4006755 L Handle2/30z.Yellow .........coiiiiiiiiiin .. 1
4006756 L Handle 10z Green .......ovunniiinniinnnnn 1
24117012 L Rod, Pusher1/30z.Red ........oviiiiiiiiiann., 1
24117022 Rod, Pusher 1/30z.0range ........c.cuveiiineennnnnn. 1
24117023 Rod, Pusher1/2 0z.White ...........ccvvieiinaan.. 1
24117024 i Rod, Pusher5/8 0z.Blue ..........cciiviiiinninn.. 1
24117025 Rod, Pusher2/3o0z.Black . ..........ccoviuiinin . 1
24117026 e Rod, Pusher2/3 o0z.Yellow ..........ccouiiiiieian... 1
24117027 e Rod, Pusher10z.Green ...........vuiuiinnennenann. 1

..24117008 ... Spring, Large ... .. 1
24117009 ...l Spring,Small ... . 1
24117010 L. Threaded Post & Screw (M4X20) .....ovvverennnnn.. 1

10..... 24117007 oo Pawl, Wratchet .. ... ..o 2
11..... 24117011 oo Threaded Post & Screw (M3X20) . ...ovvvieinennnnn. 2
12..... 24109065 ... ...l Threaded Post & Screw (M4 X 15) .. .vvvneneennnnnn. 1
13..... ..24109068 ... ... ... SCreW (M4 X 5) oot e et et ettt e 4

Thriiiianns 24109069 .............. SPHNG, AIC ottt e 1



	页面 1
	页面 2

